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Directions (1-5): fR@ 71w gg-ar¢ ik arfeer &1 eaeqas sregaer w0 3k e Re
TT FeAt & 3 difSre-

faeanfdat & el @& = 4600

>
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HAohlademer B hegeT L Irar:  CIECH

$T HeJuTd
ﬁﬁﬁw 1:1
IT 3:1
A 3:2
Henferrel 1:3
FeT 1:1
ﬁ’mﬂ;q'lszr 5:1

QL Axfaper ¥ H Ireagar F gt Fa asfrar, AT & sregga =A@ g
Tl dA5HI HT Jorar A e 3f@F ar w4 &2



(a) 481

(b) 483

(c) 485

(d) 487

(€) 3TH & I Tl
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Q2. saFeifaaw, IT 3R RfdeT 7 & gga a@ @3« A epnfaa dtwa v 7
$ifsa?

(a) 314

(b) 324

(c) 334

(d) 344

(e) 354
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Q3. fr g TAH A @z 3k wsfrat & i &1 3aw wRwaw &
(@) IT

(b) fAfaer

(c) HohfeIhel

O EICEIEIES]

(e) eI iaierd
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Q4. it # 9t arell asfHal A For wE&w F1 A9 AT
(a) 2082
(b) 2182
(c) 2282
(d) 2382

(e) ST | IS oAl
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Q5. Pl # UG a1 Fo SF, Platol A Ygad arell Fol asfFal f oo & Faa
gfaera 38+ / &7 &7

(a) 6%

(b) 11.32%

(c) 20.5%

(d) 12.76%

(e) 15%
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Directions (6-10): efaf@a Tear sf@er & wesams e (?) & T W F41 A
HTTI?

Q6. 12, 6.5, 11, 7.5, 10, 8.5, ?
(a) 9.5

(b)9

(c) 10

(d) 10.5

(e)8
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Q7. 1, 4, 27, 16, 125, 36, ?
(a) 512

(b) 729

(c) 343

(d) 216

(e) 1331
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Q8. 13, 10, 4, -5, -17, ?
(a) -34

(b) -32

(c)-22

(d) 34

(e)-2
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Q9. 169, 7?7, 361, 529, 841, 961
(a) 196

(b) 225

(c) 250

(d) 289

(e) 441
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Q10. 0, 6, 24, 60, 7, 210
(a) 120

(b) 125

(c) 211

(d) 59

(e) 338
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Directions (11-15): e=ifaf@d ud-ar¢ & camq@s sregasr & 3R AT e v
wedAl & 3w difarT.
% of people in a city working in night shifts from various industies,

total No. of people=40250

Chemical Industries
16%

Banking
14%

Sales
2%



Industries Females
Percentage

IT 20

Sports 20

Call Center 45

Sales Z10]

Banking 40
Chemical 15
Industries

Q11 Fidr WX 33N H e Nwe F & FA arar qowl F1 Afganst F w&fa
IreaTer feterr 87

(a)9:11

(b)7:5

(c)8:13

(d11:7

(e)11:9
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Q12. weft $3E & FAemaT s Rve # F1F FA arelt Afganat i AT dwa
wEqr fraet 872

(a) 2227

(b) 4481

(c) 3326

(d) 2823

(e) 4107
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Q13. @t 5 F Mramat ade fve & FF w1 T W i Foa wEAT et g2
(a) 28291

(b) 25788

(c) 28678

(d) 26887

(e) 28876
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Ql4. UIE 3=E H Aée NFe & FF FA arer A3t i wear, sl =7 &
e e RAve F s e a1 FHAARAT fr Fa wE7T w1 Faer gfaera 2
(a) 5.6%

(b) 3.6%

() 3.2%

(d) 4.4%

(e) 8.4%
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Q15. weft g3 # Fromay 7ide v & F1F @ ar W A Fa wear IR
A3t Fr Fo FEAT F A e W 2

(a) 13254

(b) 13542

(c) 13524

(d) 13363

(e) 12363
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Solutions

S1. Ans. (b)
Sol.  Required difference = (2 x 22 x 4600) — (2 x == x 4600)
=897 — 414 = 483

S2. Ans. (a)

11 1 8 3 15 2
(mx4600x5+mx4600xi+mx4600x§)
3

Sol.  Required average =
_ 2534276 + 414
= 3 ~

S3. Ans. (c)

Sol. Difference is maximum for Mechanical stream i.e. = = X % X 4600 = 598

2
4

S4. Ans. (e)
Sol.  Total number of girls

1 4600 ! + 8 4600 ! + 1> 4600 2 + 26 4600 >
=—X X =+ —X X =+ — X X =+ —X X —
100 2 100 4 100 5 100 4

+ 2z 4600 1+ 18 4600 !
— X X=+—X X =
100 2 100 6



=253+92+ 276 + 897 + 506 + 138 = 2162

S5. Ans. (d)

Sol. From previous question,

Total no. of girls in college = 2162

No. of boys in college = 4600 - 2162 = 2438

Required percentage = ——

S6. Ans.(b)
Pattern is
—5.5,+4.5,—3.5,+2.5,—1.5,405
~7=85+05

Sol. =9

S7. Ans.(c)
Seriesis, 1%,2%,3%,4%,5% 6%, 73

L ?2=7% =343
Sol.

S8. Ans.(b)
Patterniz-3,-6,-9,-12,-15
n7?7=-17 — 15

Sol. =~ 32

S9. Ans.(d)
Series is 137,177,192, 232,292,317

':' =
Sol. 285

S10. Ans.(a)
Seriesis1® —1=0
23, -2=6
3*-3=24
4° —4 =60
53 =5=120
6% —6=210
. 7=120
Sol.

S11. Ans. (e)
Sol.  Required ratio=55:45 =11:9

S12. Ans. (a)
Sol. No of women =966 + 1449 + 5796 + 1932 + 2254 + 966 = 13363

13363 ~27227

[

Required average =



S13. Ans. (d)
Sol. Total number of men =40250-13363=26887

S14. Ans. (b)
Required percentage
1449
= X 100 = 3.6%
40250
Sol.
S15. Ans. (c)

Sol. Required difference=26887-13363=13524



